OeBATHAAUATBLIU YPOK

Jlnanor:

I'pammaTHKa:

Sl chenm mapy cocrcox
1 ate a couple hot dogs

19.A: Genitive Plural: Forms
19.B: More Uses of the Genitive

19

A cben napy cocucok

| ate a couple hot dogs

1 | Yemsipe yaca ympd. My mixo 6xooum 6 4AM. The husband quietly enters the bedroom
2 | endavhio u aoscumes. HKend npoceindemcs. and lies down. The wife wakes up.

Kena 3 | I'me ke TBI OBLT? Yike deThIpe daca! Thl 3amep Where the heck were you? It’s already 4AM.
4 | nBepp? Did you lock the door?

Myx 5 | O, 3a6pu1. Ceiiuac 3amnpy. Oh, I forgot. I'll go lock it right away.

Kena 6 | CrOubko pa3 s Te0s npocyial Tel HUKOTIA He How many times have I asked you! You never
7 | 3ammpaenis 1BEPH! lock the door.

My=x 8 | He ropops Tak rpoMko. 1wl pa3zoyaumms aeTéi! Don'’'t talk so loud. You'll wake the children.

Kena 9 | Oun HOUYIOT y Apy3eH. I'me sxe THI OBLIT? They 're sleeping over their friends’. Where

were you?

Myx 10 |Ilama ycTpOun BeuepHHKY, U 1 00béaca. S mwidxo | Pasha threw a party and I ate too much. Idon’t
11 | ce6s uyBcTBYIO. KHUBOT O0MAT... ['0n0BA OONMAT... | feel well. My stomach hurts. My head hurts.

Kena 12 | YUto THI en? What did you eat?

Myx 13 | Yero s TOnbKO He el Tam ObUIO OrpOMHOE What didn’t I eat! There was a huge amount of
14 | komrgecTBO epl. CopTOB AECATH ChIpa, YilMa Jfood there. Around 10 kinds of cheese, a ton of
15 | 3aKycoK. hors d’oeuvres.

Kena 16 | A 9TO 3Ke THI €1, A CIIPAIINBai0? What did you eat I asked you.

My=x 17 | A chea mapy cocicoK, HECKOIBKO TapelnoK 0opmid, |1 ate a couple hot dogs, a_few bowls of borscht,
18 | MHOTO CEHIpa, apy sI0JI0K, OUeHb MHOTO a lot of cheese, a few apples, a lot of ice cream.
19 | MOPOKEHOTO, BBRIITIII CTAKAHOB IIECTh ACIIEBOTO I drank around six glasses of cheap red (red)
20 | KpACHOT'O BHHA. wine.

Kena 21 | Bc€ sficmo. Tawm TanneBaam? I see. Did people dance?

Myx 22 | Her, y [Tamu kpomeunas kgapriupa. He XxBaTdno | No, Pasha has a tiny apartment. There wasn’t
23 | mécra! enough room.

CnoBapb

2 | HPOCHINMAH-...Cs // IPOCHY-...CA

wake up

3 | sarmpaii+ // {3apu+ * / 3amep+ / 3amepéts}

lock (Conjugation is similar to the verb die. See Lesson 13.)

s |6ymi+ //pa3-

10 | oObemaii-...cq // 00bécTheA (irreg.)

eat too much,; overeat

14 | copt (Plural: coptd)

kind; sort

14 | yitma

whole bunch; a large amount; a ton (This is rather colloquial.)

15 |3akyc/ka (0)

hors d’oeuvres

17 | mapa a couple; a few
17 | cocric/ka (0) hot dog
22 | KpOIIeYHbIH tiny

Y] < .
23 | XxBaTaii+ // xBaTh+ + genitive

suffice (See grammar explanation.)
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MpammaTtuka 19- ypok

19.A Genitive Plural: Forms

The endings for genitive plural nouns are often considered qutie difficult to learn. To some extent that’s not false,
but they’re really not that hard. There are three endings, the choice of which is determined by the final letter (and
not by the gender) of the nominative singular.

GENITIVE PLURAL

ADJECTIVES AND NOUNJECTIVES

NOUNS

{I}X (- BIX / -KX)

{Oye /O / -ei

Nominative Singular ends in:

Genitive Plural ending is: Examples

HOBBIN OUIBM > HOBBIX (PUITHEMOB

Hard consonant 5 ‘s 3 ,
o OJILIIOH TOM > OOJBIIAX OMOB
-u, -n {O}B XOPOIIHH OTEI > XOPOIIHX OTIOB
-0B / -eB / -€B (rare) 3TOT aMepHUKAHeT] > JTUX aMEePUKAHIIEB
IUIOXOH My3¢H > INIOXHX My3¢€B
HACTOAIINH T¢HMIA > HACTOSIINX TEHUCB
Any vowel -0 (nuke the vowel) pyccKas KHATA > PYCCKUX KHUT

Note:

needed

1) A fill-vowel is sometimes

XOpOIas MalliHa > XOPOIIMX MAIIuH
TBOE IMHCH/MO > TBOUX IIHCEM

cHHee OK/HO > CUHHMX OKOH

2) Nouns in -usi, -ue reveal Hama ¢otorpadusa > Hamux oTtorpaduit
the ‘hidden’ ii.

00JIb1I0€e 30aHKe > OOJIBIINAX 3MAHUI

-b (regardless of gender)
=X, -, -4, -l

3Ta IBEPh > HTHX JABEpEH

CKYYHBIH JIeHb > CKYUHBIX JHCH
KpacHBas HOUb > KPaCHBBIX HOUCH
OCTPBIH HOX > OCTPBIX HOWKEH

3TOT KapaHJAII > 3THX KapaHaamei
MOH KITIOU > MOHX KITIOU¢H

BKYCHBII OOpIIT > BKYCHBIX OOPIIEH

1

3.
3.
7.
9.

11. Ha BricTaBKe HE ObLTO / WHTEpECHAS QoTorpadus

o

OH cTOUT OKOJI0 / HaIlla HOBas MAIlIHHA

OHH MOCTPOHIIN TOM OKOJIO / 3TO HOBOE 37aHHE
3mech HeT / MO TOOUMBII KOT

Tl BUACT / €€ yMHAS co0dKa

B Heto-Hopke MHOTO / XOpOmIHii My3éit

13. S He BHAET / TOCNETHUH HTATBIHCKUN (HIEM

Put the following noun phrases into the Genitive Plural. Use the intro phrases provided.

2.
4.
6.
8.

A B BocTOpre o1 / TBOH OOJBMION JOM

OH KyIIHAJI AT / AOpOoroi KapaHIAII

OH eil Hammcaa yiMy / HHTepECHOE TTHCHMO

B éro kanmkymnax 6510 MHOTO / CKYYHBIH JICHb

10. Ha croné nexana yiimMa / cTapas Bemib

12. 5 "He nmr06ar0 / ATOT M3BECTHBINA aBOKAT

14. HukTO He HOHUMAET / 3TOT CTPAHHBIN aMepHKAHEI]
|

19-2




19- ypok MpammaTtuka
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19.A.1 The Genitive Plural of Plural-Only Nouns

For nouns that do not have a singular form, you can’t really predict which of the three endings will be used
(because the genitive plural is based on the nominative singular). Still, the same three endings are used:

| NOMINATIVE PLURAL | GENITIVE PLURAL

-0B
qacpl qacOB
OUYKH OYKOB
JIEHB/TH JIEHET
OpIOKH OpIok

-el
JIFOIN TIOAEH
ETH EeTEN
pomATeTH pomuteneit

So, all people (mmroaéii, meTéii, poanreneii) take -eif. Otherwise, there aren’t any great clues.

19.A.2 The Genitive Plural of Nouns With an Irregular Nominative Plural

As for the irregular plurals, nouns with stressed -bs > -¢ii (lose b), while " bu> -peB (keep b)

NOMINATIVE PLURAL GENITIVE PLURAL
-bsl -éi (no b left!)

Apy3bi apy3éit

CHIHOBBS CHIHOBEH

MYKbSA MyKEH

| NOMINATIVE | GENITIVE PLURAL

-bsl -beB (with b!)

OpaThs OpaTheB

CTYJIbA CTYJIbCB

TepEBbs JIepEBbEB
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Others

HMeHa
BpeMeHa
cocéu (soft)
9EPTH
SIOITOKH

rpaxmIaHe

aHrJIn4ane

HMEH (e was {O} all along!)
BPEMEH (e was {O} all along!)
cocénein

qepTeit

S0I0K

rpaxmIaH

aHrIN4ay

*** Unexpected hardening of consonant: mée/ns > mécen. (The H hardens.) ***

There are three nouns whose genitive plural is identical to the nominiatve singular: pa3, ria3 and 4e1oBék (when

referring to a specific number - = 5).

S 164 cTO pa3 mpochiIa He KypHTh B J0OME.

Tam OpLTO YeTOBEK COPOK.

1 asked you 100 times not to smoke in the house.

There were about 40 people there.

Finally, let’s look at the genitive plural of cembsi family. It’s quite regular, even though a lot of books go out of
their way to discuss it. (Unlike us.) The basic sound is: ¢c"{E}m"ii{A}. You simply nuke the vowel ending,
which leaves you with ‘cembii’. A fill vowel is needed to break up the consonant cluster -Mp/if, giving ceMeid.
(This exact issue was raised on a recent Slavic linguistics PhD exam. Yes, the student got it correct.)

@ Form the Genitive Plural.

S yBaxaro / Mo#t HOBBIH cocén

Ha mMoém cTo:1¢é Het / e€ uackhl

Bcee oboxator / er6 apyr

[Touemy THI KpUUHAIIE Ha / HATIW AETH?

V MeHs HeT / 1EHBTH

= 0 N w =

1. B 3toMm mapke MHOTO / BRICOKOE AEPEBO

13. B 3toM pomaHe 6ueHbh MHOTO / KpacHBOE UM

2
4.
6
8

Buepa g Bugen / Bam OBIBIIHIA MYXK
Kanru nexar Bo3ie / erd 1oporue ouku
Mos 6a0yIIKa TOJITO KHIA Y / 3TH JTIOIH

31eck HeT / KpacHBBIH CTYI

10. S tepmérs He MoTy / MANUH ChIH

12. OnHa nojoxiaa 100Ky BO3jIe / MOH CHHHE OPIOKH

14. Ona 3H4eT MHOTO / pycckas NECHS
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19.6 More Uses of the Genitive

19.b.1 The Genitive of Quantification

The genitive is used after various “quantifiers” such as:

Quantifiers That Govern the Genitive

CKOJIbKO how many/how much

HECKOJIBKO  several

HEMHOro a small (sometimes insufficient) number/amount
MAJIO an insufficient number/amount — always negative
yiima a very large number/amount; a ton — not literally
napa a couple/few

The genitive plural is also used after certain numbers, which we’ll review next semester

With the above-mentioned quantifiers, the use of the genitive singular vs. plural in the following noun more or
less mirrors English. With “count nouns™ (things you can count) use the genitive plural: ck61bK0 KHUT; MHOTO
(GIILMOB; HECKOJIBLKO KapaHaaméii; Maso Apys¢éi; yiima npo6aém; napa aneabciHoB. With “mass nouns”
(things you cannot count) use the genitive singular (if the noun exists in the singular): ¢ck0JLK0 BpéMeHH, MHOTO
MécTa, HeMHOro caxapa, MaJjo JaéHer (no singular form exists), yitma pa6oTsl (a fon of work).

You normally cannot use HécKoJIbKO or mapa with mass nouns (i.e., only the genitive plural is used after these
two quantifiers).

Genitive Singular Genitive Plural
(Mass Nouns) (Count Nouns)
CKOJIBKO Tasg? how much tea? CKOJIBKO pPYyUeK? how many pens?
yitma mMécta a ton of room yiiMa cocHicok hot dogs up the wazoo
MHOT0 caxapa a lot of sugar MHOT'O KHHT a lot of books
XXXOOOXXXXXXXXXXXX HECKOJIBKO BONIPOCOB  several questions
XXXOOOXXXXXXXXXXXX Napa anejibCHHOB a couple oranges
HEMHOT'0 BpEMESHH 1) a bit of time HEMHOTO Apy3¢it 1) a few friend
2) just a little time 2) not very many friends
MAJIO MOJIOKA a small (insufficient) MAJIO IITEMOB a small (insufficient)
amount of milk number of movies
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19.6.2 Nouns That Appear Only in the Singular in Russian

Russian is generally more strict than English about forming plurals from nouns. For example, in English you
could say (strictly in theory) / had 6 beers last night. You cannot form a genitive plural from the noun miBo in
Russian. You have to find an appropriate noun (bottle/glass/keg) followed by the genitive singular form nmiBa,
i.e. six bottles/glasses/kegs of beer. But since a situation like that could not possibly occur, it won’t be a problem
for you. Some more examples:

Kakvie y Bac coprta uas? What kinds of tea do you have?

OH BRI OYTHUTOK TATHISCAT HEMEITKOTO TTHABA. He drank about 50 bottles of German beer.

@ Form questions and give answers based on the prompt

© 6 7 O

Example: IEHBTH ©o Y MeHS MHOTO JIHET.
caxap A0 Y MeHS MaJo caxapa.
1. napyr © 2. Bpéms ® 3. wit O
4. xwira ? 5. OomBIT experience @) 6. monoxd ©
. 3/IaHHe @) 8. nméupru © 9. mfco ?
10. rancryk @) 11. goxms [ (no need for 12. miso ©

possessive phrase)

19.6.3 Verb Agreement With Quantifiers

Most quantifiers take a neuter third-person singular verb, just like uro, Bcé, Hu4ero. (Recall that kro takes a
masculine third-person singular verb, while Bce takes plural.) With animate subjects it’s possible to get either a
singular or a plural verb.

CKOJIBKO KHUT OBLIO HA CTOIE? How many books were on the table?
Tam OymeT Mamo UHTEPECHBIX (PAITEMOB. There will be few interesting films there.
MHOT0 pyUeK JIeXkKAI0 Ha IOy . A lot of pens were (lying) on the floor.
HéckonpKko CTyIEHTOB 3HAET (3HAIOT) OTBET.  Several students know the answer.

With yiima and mapa, which are feminine singular nouns, the verb is in the feminine third-person singular:

Panpmie y Hero ObLTA yiiMa aéHer! He used to have a ton of money!

Ha Tapéike IexHAT mapa COCHCOK. There are a couple of hot dogs on the plate.

(The whole question of verb agreement with quantifiers is quite complex. There’s a lot more to be said about this.
Senior Thesis, anyone?)
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gb Change the sentences based on the prompt
Example: Ctynént 3H4eT OTBET (MHOTO) [ MHOTO0 CTyIEHTOB 3HAET OTBET.

1. Ha cromné nexxut Kapanaam (MHOTO) 2. B IIphiHCTOHE YuHTCA CTYACHT M3 OpanHiuu (MAajo)
3. B marasiune Obl1 caxap (HEMHOTO) 4. Ha ypoke 6yaer yMHBIN IIpodéccop (04eHb MAJIO)
5. B Hero-Mopke XUBET pycckuit mucaTens (HECKOIBKO) 6. Ha cTyite JIeXAT KiIod (CKOIbKo — put this first)
7. 'V MeHs ObUTH 1EHBIH (MHOTO) 8. ¥V I1omu xopéiue ipy3bs (04eHb MHOTO)

19.B Genitive of “Sufficiency” After XBatan+ / XBatu+

With the verb xBaraii- // xBaTih+ suffice the substance/items being described appear(s) in the genitive. Often this
verb is negated (to express what is lacking), but that’s not why the genitive is used. To express the person who is
lacking (or who has enough of) the substance/items, use either the dative or y + genitive. (Sometimes there are
subtle differences between the dative and y + genitive, but we won’t explore them here.) Since these sentences
involve quantity, use a neuter third-person singular verb, regardless of whether the noun (in the genitive,
remember) appears in singular or plural.

V mens (MHe) He XBaTaeT JIEHET Ha OWIeT. I don’t have enough money for the ticket.

V Bac (Bam) xBATHT BpéMeHH? Will you have enough time?

CrynbeB 3/lech He XBaTAeT. There aren’t enough chairs here.
MopoikeHOoTo 715 BCeX He XBaTHJIO. There wasn’t enough ice cream for everyone.
Te6é (y Te0s1) MécTa XBaTaeT? Do you have enough room?

51 6010¢Ch, UTO SI0JIOK HE XBATHT. I'm afraid there won’t be enough apples.

%

1. Idon’t have enough money. 2. There weren’t enough books.

3. There won’t be enough hot dogs. 4. Sasha never has enough time.

5. I’m afraid there won’t be enough hors d’oeuvres. 6. There’s not enough cheese.

7. There weren’t enough chairs. 8. What are you lacking?

9. There’s enough room for (Ha + Accusative) 10. Do you (PI) have enough hot cereal?

everyone here
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19-i ypok — lomallHee 3agaHue Umsa

25 YnpaxHéHue 1

my favoritie building your tiny house this delicious hot dog

Singular

Nom

Gen

Plural

Nom

Gen

2<  YnpaxHénue 2 Insert a different quantifier in each sentence and change the Noun phrase
from singular to plural. Be sure you use the correct number with the verb!

1. Y MeHs XopoIas MaIlHHA.

2. Ha priHKE OBLT pyCcCKHUH Bpad.

3. Ha cTo¢ JTeXKAN CTAPBIH JKyPHAT.

4. B IlpiiHCTOHE KpachBOE 3MAHUE.

5. 'V Her6 caMOyBEpeHHBIH APYT.

6. B Ilpuncrone yuutcs réuuii. (Think about how to decline this Noun!)
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z5 YnpaxHéHue 3

1. 'V bwura I'éiitca

HNomaluHee 3aaaHve

Complete the sentences using something in the Genitive. Use suffice
(both positive and negative) for two of the sentences.

2. B Hero-Mopxe

3. 'V Dmmzabér Téiinop

4. Y PoGepra Kénnenn

5. 'V yOopmuka janitor

6. B 31OM cemécTpe y MeHA

19-9



